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CIC-01 : THE CONTEXT

Time : 2 hours Maximum Marks : 100

Note : There are two sections in this paper. Section-A is
compulsory. Answer any three qucstions from
Section-B.

SECTION-A

1.  Following are ten multiple choice questions. Each
question is having four choices, out of which only
one choice is correct. Find the correct choice.

All questions are of 2 marks each : 10x2=20
- (a) Following is one of the type of
o computational complexity :
e
S {i) Linear
Lo

(i) Non-linear
(iii) Both {i) and ii)
(iv) - None of these
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(b) Following symbol is wused in data

dictionary :
i =

(i)  +

(i) [ ]

(iv) all of these
() A flow chart is used to show flow of
in the system.
(i) data
(i)  control
(iii) both data and control
(iv)  None of these
(d) TCP stands for
()  Transmission Count Protocol
(if) ~ Transmission Cost Protocol
(i) Transmission Control Protocol
(iv) None of these
(e)  WAIS stands for - )
(i)  Wireless Area Information System
(i)  Wide Area Information Server
(ii)  Wide Area Information System
(iv)  None of these
(f)  Program complexity may be measured in
terms of :
(i) only time complexity
(i)  only space complexity
(iti)  both (i) and (ii)

(iv)  None of these
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(g C++isa/an:
(i)  object oriented language
(i)  structured language
(ili) object based language
(iv)  None of these

(h) In a decision tree the first choice /decision

is known as :

(i) root

(i) branch

(iii) leaf

(iv) None of these

(i)  The minimal connected graph is known

as :

(ij graphics
(i) tree

(i) forest
(iv) branch

(j)  Boolean operations are :

i) AND

(ii) OR

(iii) both (i) and (ii)
(iv) None of these
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(b)
3 (a)

(b)
CIC-01

What is DFD ? Explain the rules for
governing construction of DFD.

What is time complexity ? Explain Big O
notation used for Calculating/Representing

time complexity.

Explain Decanting problem with the help

of an example.

What is decision tree ? Explain the use of
decision tree with the help of an example.



SECTION-B

4. (a) What is inheritance ? Explain advantages 10
of inheritance with the help of an example.

(b) What is client/server system ? Explain 10
advantages of client/server system.

8 (a) What is Internet ? Explain any two 10
applications of Internet.

(b) Explain minimum spanning circle with the 10
help of suitable diagram.

6 (a) What is decentralized data processing ? 10
How it is better than centralized data
processing.

(b) Differentiate the following : 10
(i) MIS and DS5
(i) Object Oriented Programming and
Procedure Oriented Programming
7.  Write short note on the following : 4x5=20
(a) Properties of Information
(by WWW
(c) Future of Information Technology
(d) Polymorphism
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4 (a)
(b)
5 (a)
(b)
6. (a)
(b)
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